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The implementation of the project will give:
1. politicians: ACTIVE support of the ENTIRE population, unity of clans, end of civil strife and wars;
2. economy and business: growth of 120-35% for la quarter of a century;
3. ALL social strata: inspiration, friendship, new morality, national pride.

( About Africa. It is useless to wait decades for miracle investments. The reform will do everything “by itself” in a few years )

-- How the interests of social strata of society will change.
-- Content
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How the interests of social strata of society will change.

Political leaders

All workers: both mercenaries and employers

Company owners
Company managers

Mercenaries & Civil servants
Individual entrepreneurs (including: freelancers, lawyers, doctors, teachers, etc.)

Socioeconomic layer

Political leaders

Something that will work ITSELF

-- the population will be the most ardent support of the Government; political parties and clans
will become practically unnecessary: society will become more united.

-- the population of the country will TRY ITSELF to work and live more effectively; from this it will
become truly happy (and not "calm to the point of idiocy" or "driven to death").

- hostile neighbors will cease to be such, because they will want to live as happily as in Our
country; will strive to move to Our country

-- specialists from different countries (with their families) will go to live in Our country,

they will bring READY new knowledge and skills in VARIOUS sectors of the economy; there will
be no need to wait until our youth is taught and accustomed to something;

-- the military will WANT to defend the country at ANY cost: because they will defend not only
their family, but also the laws that have made ALL the people the most advanced and happy
-- investors will pour money into the continuously growing economy

-- health care and medicine will be filled with enthusiasts, cults of education and health will
appear,

and part of the money received by the state from foreign investors will raise the education and
health systems

-- social and political tourism will grow by a couple of orders of magnitude;

- the country will be known throughout the world to EVERYONE without exception!

- taxes will be unnecessary, except for the profit taken out of the country. (which will further
enhance economic growth).

The country will "sigh" from a free life.

- they will stop climbing into politics to "divide" the authorities: a comfortable life for them and
their loved ones is already guaranteed by the Reform;

stormy social processes of development of the people will involve politicians in activities that are
truly useful for the people;

-- the seething events will give birth to a mass of contradictions, in the resolution of which truly
effective people will appear; work in power will become "more lively" and "brighter"

-- etc.



All workers: both
mercenaries, employers
and individuals

Company owners

Company managers

Mercenaries
Civil servants

Individual entrepreneurs
(including: freelancers,
lawyers, doctors,
teachers, etc.)
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no need to worry anymore:

-- about earnings,

-- about saving and increasing them

-- about pensions

-- about prices,

-- about taxes, deductions and other levies

-- about loans

-- about being unfairly fired

-- no need to cling to earnings, doing work that is uninteresting to you

-- no need to waste your life servicing banks, etc.

- there can be no monetary debts and lawsuits over them

-- you don't have to worry about being fired just because of your age

-- there will be a desire and it will be profitable to help the police,

including finding those who are sabotaging the Reform

(which will increase the effectiveness of the police by an order of magnitude).

-- etc.

-- no need to spend resources on the daily maintenance of the workforce,

-- owners will rush to find effective managers

(otherwise they will go bankrupt due to the outflow of workforce from bad "bosses")
-- dependence on the relations of mercenaries, who will be interested in the Index, will lead to the
fact that companies will be focused not on profit, but on increasing the quality and quantity of
products (which will raise the economy "before our eyes")

-- etc.

-- no need to force/compel/coerce staff

-- during crises, no need to fire workers

-- after a crisis, no need to recruit and train new ones

-- no need to keep bad workers just because they are from the "right" people

-- no need to keep a bad worker just because there is no one to replace him: there will be plenty
of willing and able people.

-- etc.

-- you can leave a "bad" company at any time:

from an ineffective boss

from a bad team

from bad working conditions

from a company that is very far to get to

-- you can only work where "l am better at it"

-- if it has become uninteresting, then you can go to where it is interesting

-- you can study vigorously and not "work part-time" to the detriment of your studies
-- you don't have to work, but “find yourself"

-- etc.

-- will be interested in working better and for a larger number of consumers
(= better and more)
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Content

The reform will not cause ANY negative upheavals in any social stratum ...

Target = make the country the most efficient in the world economically and socially: .

The source of achievement of the goal =

-- The added value from a highly motivated person is 5-10 times more than usual

-- High motivation is achieved by encouraging and stimulating the effective activities of everyone like him.

-- The source of the resident's desire to "encourage and stimulate" is the ordinary morality of any productive society.

Expenses

Facilities: ... = Change in activity MOTIVATION for EVERY resident (civilizational change): not with money, but with
an assessment of the social usefulness of the individual. ...

Investments and their profitability = 22-33% for at least 25 years

Personal Income Taxes =0

Prices and profits .

Insurance and pension companies .

Attitude to reform in the country from external forces .

Benefits: military, economic, social, political, international, defense capability, cultural, psychological ..

How people's desires and aspirations will change.

Country = Basic conditions for the success of reforms .

Time = now: to

The main stages of launching the reform _

Difficulties and features of the transition period of reform

Reform management. Who and how. ..

FAQ

Polit-economic side

Differences between the reform and historical analogues -
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The added value from a highly motivated person is 5-10 times more than usual.

Sources (reasons):
First
Second
Third
Fourth
Fifth (additional)
Sixth (additional)

Analogy (at the country level) __.

First source:
Ordinary surplus value is produced from the energy of people who are in one of two psychological states: or anxiety
( = "failed" sections of the population),
or boredom (= "wealthy" sections of the population).
MANY times more energy is born in a state of inspiration. You can get high inspiration like this:
approval by society / the surrounding social environment of the results of effective human activity
and man’s lack of fear that the result of his activity will be taken away.
Proof: children play with maximum dedication (in those games in which they receive praise from fans and judges).

Second source:
Lack of economic dangers and fears
will lead to the fact that a Person will not “stop and look Back” during activities
which will increase its return by another 1.5 times.
Proof: just thoughts on the topic of money/welfare take away 1/3 of an ordinary worker’s life. Even when he works, a
significant part of his attention is not in work.
1/3 attention = 50% of the remaining, so directing attention to activities alone will give an increase of 1.5 times.

Third source:

The desire to play a “favorite game” = to engage in a favorite activity,
will lead to the most effective redistribution of labor in the country by type of activity,
which will significantly increase the output of the collective” workforce.

Fourth source:
The maximum possible reduction in losses due to ineffective superior-subordinate relationships. The boss ceases to be a
source of wealth,
and the subordinate ceases to be a means to ensure the well-being of the boss. The boss will refuse to work with an
ineffective subordinate,
and the subordinate will refuse to work with an ineffective boss.
As a result, companies will consist ONLY of people who want to work with each other = a single team. (Imagine: ALL
companies and institutions consist of truly united teams!)

Fifth source. (additional)
Any important decision in companies goes through more than one approval.
Agreements between people, when everyone thinks about their own interests, doom the most promising solution to failure,
and a “golden mean” decision will be made.
When the decision is made by those who are striving exclusively for a common goal, then inevitably the MOST effective
decision will be made.
This will increase the return from the collet Worker by several times more.

Sixth source. (additional)
Many companies live on the phenomenon of “bargaining” for a long time. In conditions of government prices, there is no
point in bargaining.
Companies will be forced not to wait, but to start improving their efficiency.

Historical examples prove that in the presence of the above conditions, the effectiveness of even small groups increases 10
times!
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Change in activity MOTIVATION for EVERY resident (civilizational change):
not with money, but with an assessment of the social usefulness of the individual.

1) Becomes the yardstick Personality Utility Index (=PUI) .
PUI of the Manufacturer \ Seller = average rating of the product by the Buyer (on a smartphone).

2) The seller of any value DECIDES HIMSELF: to whom to give or not to give the product of his labor (guideline -
PUI).

3) Consumer values are distributed free of charge: "New" money in the consumption sector is abolished ..,
including :

-- the replenishment of individual accounts (with exceptions),

-- the accounts of individual entrepreneurs are transformed in the account of companies:

otherwise they will have nowhere to enroll the revenue from the given commodity values.

"Sedative" features:

4) the seller can accept values equivalent to money (for example, gold),

But since replenishing goods is usually more convenient for non -cash, sales for non -jealouss will be an exception,
Which does not affect the motivation of the bulk of the working population.

5) the consumer can spend the rest of the money in the same order from his account until the money ends there;
Citizens can put money on their accounts before the reform - as much as they want: make a psychological "reserve" for
themselves.

6) Companies can buy from a person belonging to his gold at the price of the department with the crediting of funds
to his expense account. But money to maintain business is sufficient money that is better than any product form, so only
specialized companies will buy gold. And from this the bulk of the workers will not be worse.

And the owner of "cashed" gold will be able to acquire consumer values outside the index.

7) Phenomenon will appear “auto” detecting violations of the reform law.
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Pérsonality Utility Index (=PUI).

PUI = Average ofnumerical form of opinions(likes and dislikes) ...
Any product, work, or service is rated by the Consumer using a smartphone/or computer
PUI =
anonymous: The seller does not know who exactly valued it _;
each new assessment is immediately taken into account in the person’s PUI _;
Everyone's PUI is visible to everyone
The evaluation of the company's product is taken into account in the PUI of EVERY employee of the company. Total rating
of a company employee = average of ratings for all company products ...
PUI takes into account both quality and quantity ..

Abuse
How PUI is formed in representatives of different types (not) activities
PUI should also be used as a tool to reward citizens for rendered great services to country.

For example, a maximum PUI is set for a certain period of time; and so on.

oonsz <— BaCK



“Abuse:

Not a single potential falsifier will even think in this direction_

For example: someone demotes or promotes someone with false negative ratings.
Why won't this happen as a phenomenon?

Causes:
1) since it is not the person who is being evaluated, but the product, it will not be easy to falsify the PUI for

someone personally;
2) falsification of assessments will be condemned by society, which will ultimately lead to a decrease in the

falsifier’'s PUI (: word of mouth will do its job).
Knowing this, not a single potential falsifier will even think in this direction.

sovormonecss. <— BaCK



Continuously increasing influx of qualified labor different branches of human activity (= universal surplus value).

Moreover, together with their families - to LIVE, and not temporary workers.
Reason: psychological fatigue from worrying about your future because of money (especially in industrial countries: where
the vast majority of the population cannot feed themselves from nature: they live and work in cities.)

ooz <— BaCK



Indigenous people WILL SUPPORT reform.

The reform does not take anything away from anyone, but gives something that was not there back.
Therefore, the indigenous population will gradually begin to actively participate in it,
which will lead to the formation of a society united by a COMMON interest,
what will unite society
which will provide

and increased political stability,

and the growth of friendship among the indigenous population.
(When family members do a common thing, they love each other more;
if two families do a common thing, then they become like relatives,
if all families do a common thing, then a single people is formed - “WE”
when the people become united, then it is an invincible force. )

womoness <— Back



Multiple growth of entrepreneurship.

When registering companies, initial capital will not be needed,
which will allow many potential entrepreneurs to work according to their calling.

Obtaining loans for companies whose management has a high Index will be simplified:
a high leader's index is the best guarantee of the company's future performance.
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There will be an increase in sales of high-tech products abroad.

This will happen through two processes:
influx of diversified skilled labor

purchasing high-tech means of production for it,

which will give rise to the production of increasingly high-tech values.

wooners <— Back



A significant reduction in the cost of the manufactured product and a MULTPUIE increase in its quality due to:

the desire of every employee and owner of the company to increase the IOP of the company’s goods:

people will look for any opportunity to increase the quality (and quantity) of a product. Indifference and “sitting
around for show” will disappear.
in work :

losses due to inter-service disputes will be reduced: since everyone is interested in moving towards the same

the initiative of employees in resolving even those issues that “yesterday” did not interest them at all will increase
significantly;

the realization that everyone is starting to play the “game” will create a sense of teamwork and psychological value
for everyone - everyone, which BIRTHES a new “family” morality in relationships. (Based on personal experience, | can say
that “work” relationships will become more attractive to people than family relationships.)
When your “family” believes in you, you become inspired.
It is this inspiration that will give the most significant increase in conomic efficiency;

Note:
It is precisely this that will change the psychological state of people from “minus” to “plus” - people will become happy and as
active as possible.

maximum efficiency due to the self-formation of strong and long-term “teams”:
Reason: no one is interested in working with an ineffective employee, therefore,
or the team will only take on equals,
or a highly effective employee will leave for a stronger team.
a significant increase in workforce productivity due to the release of a significant part of time from financial worries.
An ordinary worker spends at least 1/3 of his time on money worries (even when working). If he starts spending this time on
work, then even an extensive effect will give an increase in productivity by 50%: (1/3) / (2/3).
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The Country will become a role model .

Reform will become part of national pride
and will go down in the history of all mankind (like the founders of the reforms),
since they will learn what will be in demand by the world already at the end of the third world war.
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Basic conditions for the success of reforms:

-- The country should not be part of anyone's team to prepare a big war between East and West.

-- Personal qualities of the real leader of the country: caring about the nation, not about his clan; readiness to “raise” the
nation and country by any means.

-- The country must be in a hopeless situation: only then will the Government and Legislators support the changes of the
Leader.

-- The security forces must be on the side of the country’s leader.

-- Private buyers must be provided with cellular communications (smartphones): otherwise the reform will be technically

impossible..
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Time = now: to

by the end of the third world war, have time to make progress in reforms, which after the war will be in demand around the
world,
and the Country will be included in the history of the birth of a new civilization, as its pioneer.

Note:
the start of the war is expected 2025; the end - in a few years: for different countries - differently. (With social upheavals in
many “developed” countries).

If you don’t start now, then others will start after the war,
and the opportunity to become the most needed by the World will no longer exist.

2 oomons <— BaCK



Insurance and pension companies.

The only thing that changes in insurance is that insurance payments to the population stop:
1) nothing;
2) a person can restore what was lost from an accident simply by “borrowing” from the “Seller”.

No pension needed:
a person is provided with an “earned” Index and the opportunity to use it to get what he wants for free.

oo <— BaCk



Difficulties and features of the transition period of reform.

The main difficulty is to start. Reason = fear of uncertainty, including fear of rapid change. Solution = do not replace reform
with preparation for it:

-- dispel the first doubts: let the Minds ask the first questions and receive an answer;

-- do not allow the second, third, etc. circles of questions: if the answers are given to the main thing. then even
more will be given for secondary things.

-- and start (“in the fog you can only see the road when you walk”).

Transitional period of labor redistribution in the country: 1/6 of workers will change jobs, therefore
a temporary imbalance may arise in the supply of labor to sectors of the economy.
Solution = prompt government involvement in “closing the holes”;

Initial conditions. (including )
-- Smartphones must be owned by 85% of buyers;
-- 85% of companies must have corporate bank accounts;

Preparation (including )
-- It is necessary to have a database on the composition of employees and owners of at least 95% of companies;
-- It is necessary to form a Department for determining consumer prices (3-4 people).One of the employees must be a
representative of the central financial authority. .
-- It is necessary to ensure the availability of applications in smartphones about: consumer prices, categories of consumer
goods and the Human Utility Index.
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One of the employees must be a representative of the central financial authority.

For the efficiency of any changes, it is necessary that decision makers

had a complete and up-to-date understanding of what was happening. This is only possible when a central banker works
together with state employees.

This needs to be resolved with the Central Bank.

Back |
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Tourism( = "second financial frontier").

Inbound tourism.

The tourist pays as usual: a foreign card or in cash.

Money
--from the card are credited to the seller's account with automatic conversion
--cash are placed at the expense of the seller’'s company.

The seller has no right (and interest) not to sell to the tourist what he wants.

Outbound tourism.
or from balances in expense accounts.
or at the expense of the state (society): an amount is issued, the size of which depends on the value of the social utility
index.

Calculated by the department based on the market price of the type and duration of the trip in the country where the
departure takes place.
For this purpose, statistics from travel companies adjusted to the Index are used.
For holders of the maximum index, there are no restrictions: how much you spend, which means that’s what you need. Note:
business trips are at the expense of the companies.

Back =|
— Tourism( = "second financial frontier")
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Preparing and accustoming the population to constantly participate in survey assessments.

Periodic surveys of people's opinions about any product, work, or service are launched.
Simultaneous publicity of company results.
Formally, a public goal: to develop the country’s economy together with the people.
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Reform is announced.

The tougher it is, the smaller the losses will be.

The circulation of ca"S"stops.

Attempts to run a shadow economy are suppressed by lowering the PUI by the judicial system.

The emerging new morality will lead to the population helping law enforcement agencies to identify violators of the
reforms.
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A mechanism is launched to guarantee the state's promise to cancel the reform if it turns out to be unsuccessful.

The same mechanism consolidates the healthy forces of society on the side of reform.
In six months, a public indicator of the share of supporters and opponents of the reform will be launched.
The indicator has two possible consequences:

the bad:

in a situation where the part of the population that is against the reform is larger than the part of the population that is “for
the reform: a referendum is held. If the results of the referendum are “against” the reform, then the reforms are cancelled.

the good:
The proportion of reform supporters is greater than those of opponents. And it grows over time. Seeing this in every
smartphone will reassure supporters that the reforms are long-lasting.
After a stable twofold excess of supporters over opponents, a new public morality is formed.
After such a change in the minds of the population, the indicator will lose its political significance and turn into a scientific
tool.
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Numerical forms of opinions.

+2 “"very better expected"

+1 " better expected”
o " like expected"”
-1 worse expected”

-2 "very worse expected"
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Attitude to reform in the country from external forces.

External forces will not be able to interfere, since
the “strong” are busy preparing for a war between East and West,
and the “weak” will not be able to due to lack of strength.
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Benefits: military, economic, social, political, international, defense, cultural, psychological.

-- military achievements will grow at the same speed as general economic achievements = many times faster

-- continuously increasing influx of qualified labor different branches of human activity (= universal surplus value)

-- indigenous people WILL SUPPORT reform ...

-- multiple growth of entrepreneurship -

-- there will be an increase in sales of high-tech products abroad ...

-- a significant reduction in the cost of the manufactured product and a MULTPUIE increase in its quality due to:

-- drug addiction as a phenomenon will cease: there is no psychological basis: life ceases to be painful or boring.

-- thefts become almost meaningless: why risk prison if you can get it for free.

-- conflicts regarding the division of consumer property (courts) will be reduced to 0: instead of dividing, it is easier to go and
get something new.

--a new civilizational value will appear - a new morality.

-- the Country will become a role model , reform will become part of national pride and will go down in the history of all
mankind
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‘The main stages of launching the reform.

Preparatory organizational activities . .

Reform is announced .
The definition and calculations of the Indexes are started.
A mechanism is launched to guarantee the state's promise to cancel the reform if it turns out to be unsuccessful

oo <— BaCK



Reform management. Political technology. Who and how.

The following are used: vertical and horizontal, collegiality and personality, to achieve one thing: inspire and inspire every participant in the management process.

Planning. Dynamic planning is used.
The control system seems to be as follows (without unnecessary detail):

Required Parts

"Commander-in-

1 Chief"

Persons

The head of the country's executive

Tasks \ functions

Appoint and change group

( G-group) branch. members
2 "Performers" Government. Carry out the decisions of the "S*"
( A-group) Legislators. group
1) Psychologist with experience working with extreme groups,
2) A person with experience in large-scale and fast-paced Prevent
business, conflicts
"Buffer” 3) A person with experience of large-scale and rapid combat '
3 (B-group ) operations, between the
4) Representative of the “personnel team” of the "S" and the
Commander-in-Chief nAn
+ support staff: deputy and assistant
Group of scientific practitioners (6-7 Definition of contadicions:
4 'Developers" people) + Deputy of each head of setting goals,
( S-group) . . . finding solutions,
the site (functional) + 2 assistants e selliiers
=16 persons
Reform enthusiasts
N . . S .
"Commissio re_pres_entatl\_/es of_t_he people Inspire micro- populations
5 ners" organized in socio-political temporary .
organization: Eliminate current discontent among
(K-group)

“Together with the Leader - into the
future!”.

micro- population groups.

Task Tools Personal requirements
asitis asitis
or: as is;
. or: Add a “deputy for reform”
as itis

to some ministers with qualities:
business enthusiast + organizer

Personal communication
* analysis for: identifying emerging
contradictions
* application of peaceful extinguishing
methods

* Removal of an uncooperative

project enthusiast
*

sharp and quick mind

member of group "S"

Powers of the First Deputy Commander- . .

in- Chief enthy5|ast p_rOJect

. * "artist" of his craft

* (not a “statist” from
science,

not “just a manager")

within the approved Dynamic reform
plan

Indirect campaigning of the

population in problem areas

--Informing the "S"group about the
causes of specific grievances

--Public moral participation of the

project enthusiast
*

highest
communication skills
Commander-in-Chief in solving

important specific problems

DEESIan Sk How the composition changes

Principles
asitis asitis
asitis asitis

At the request of any member of

each independently of groups S or A to the

other group members Commander-in-Chief * decision of
the Commander-in-Chief.

Group"B" decision: Removal of an
each independently of .
other group members uncooperative member of group

Representative of a territorial group
- selected by decision of the
territorial cell of the Movement
each independently of The composition of the members of
other group members a territorial cell is a voluntary
decision of the members
themselves.

Peculiarities: ...



"Commander in Chief" (C-group)

"Buffer”

(B-gro " Developers
(S -group)

D e 1

v

Government. Legislators "Commissars”
(A-group) (K-group)

Institutions, Companies and People



Abpoint and change group members.

Regarding members of group"B" and group S:
at the request of any member of groups S or A to the Commander-in-Chief

Participants in Group S must direct 100% of their attention exclusively “forward.” Any waste of attention on “turning Back”
= slowing down the movement of the group, and therefore the entire group “A”. During the “battle” this is unacceptable.

If by a sole decision to remove one member of the group, then the rest will cease to believe in the security of their position,
productivity will fall and will NEVER be at its highest: people will lose FAITH. And for the success of the reform, maximum
dedication is needed.

To prevent such developments,
only the FULL composition of group "S" can be appointed/replaced, only the full composition can be assigned, but not
individuals.
This rule is announced publicly by the Commander-in-Chief
: guarantee of rule reliability.

The rule can only be applied once: if the reform fails.

The inapplicability of such a rule is a guarantee to each member of group S of the stability of his position. This makes it
unnecessary to worry about protecting yourself,

therefore, it does not distract a person’s attention from “looking only forward”
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Députy of each head of the site (functional).

If a person is an enthusiast and artist of his craft, then he will devote himself 100% to his work, that is, work "to the max."
Working "to the point of wear and tear" leads to a decrease in the quality of human work, therefore this cannot be allowed.

To prevent wear and tear, each head of the function
will be FORCEDLY sent to intensive measures for his psychological recovery. The decision about who should go for

recovery and when is made by group "B"

The Deputy Head of the function is needed primarily to maintain the functioning of the Site for the period psychological
recovery of the Head of the function.
This will also be necessary for emergencies..
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Cérry out the decisions of the "S" group.

The decisions of group S must be binding for each member of group "A". The is, as it were, the first deputy commander-in-
chief for reform issues.

It goes without saying that group "S"and A will work in very close information and targeted contacts, therefore, significant
contradictions cannot arise.

Tensions in relationships should be prevented and eliminated by group "B",

therefore, it is expected that there will not be even noticeable contradictions between A and "B".

s <— BacCK



Add a “deputy for reform” to some ministers.

Usually, ministerial positions are given to people who are balanced and “correct”
= stability of the country
*

Carrying out our reform is PLANNED INSTABILITY of the country

Along with the “leisurely” minister, a “hasty” deputy for reform issues must be appointed.
Fundamental disagreements between a deputy and a minister are resolved only by the Commander-in-Chief. Unprincipled
ones are decided by meetings: either with other members of group A, or with group "S".

So that the minister does not see the “young” deputy as his own competitor, and, therefore, so that he does not interfere with
the work of the deputy,
it is required that it be initially announced by the Commander-in-Chief that a deputy can hold the position of minister only:
and with the consent of the minister himself
and the absence of “against” from at least one member of the Government.

Then Experience and Energy will strengthen each other.
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Representative of the “personnel team” of the Commander-in-Chief.

Task =
involve the Commander-in-Chief
to resolve specific contradictions between groups"S"and A
on time = with ADVANCE of negative developments.
What are “specific” contradictions =
those contradictions that arise due to the difference in mentality between “outsiders” - group S and “locals” - group A. (This
also includes the political component of the phenomenon of the formation of local authorities).

Function =

timely informing the Commander-in-Chief about everything that the Representative considers important from the point of
view of the above.

Note: the difference in mentality can be mitigated by the fact that the composition of groups "S"and"B" consisted partly of
locals, BUT

mixing 2 functions for one performer = worsening the implementation of each of them = slowing down reforms =
unacceptable.
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Prevent conflicts between the "S" and the "A".

Any government is inertial.
Any “assault” squad is dynamic.

Contradictions, and PERMANENT ones, between group A and group S are inevitable. But “technically” they can be solved.
*
The situation is ESPECIALLY burdened by the fact that,
usually, the mood in the governments of stable countries is distributed as follows:
a third of government members = | want,
a third - don't mind,
a third - 1 don’t want.

That is, “wanting” will, on average, = 50%.

*

Any phenomenon develops when 2/3 of its body is “for”.

Such a government will not be able to implement reform.
*

The will of the Commander-in-Chief and his “personnel” is required.
That is why without a Commander-in-Chief - romance and enthusiasm, reform in peacetime is impossible.
This will add about 1/6 of the phenomenon, which together will provide 66% "for".
Then the remaining 33% will be divided like this:
16% (=1/6) - not against
16% (=1/6) - | don’t want.

1/6 is a lot, but it can certainly be overcome.
This is why it is required Representative of the “personnel team” of the Commander-in-Chief
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Removal of an uncooperative member of group "S".

This decision is made by ANY ONE of the specialists in group “B”.

To prevent/reduce grievances and useless conversations, the decision is announced by the Commander-in-
Chief.
Specialist “B” is strongly recommended NOT to JUSTIFY his decision even among members of group"B".

Causes:

1) after making a decision, wasting the time and energy of group members discussing something that can no longer
bring benefit to the cause (and both must be protected) is harmful;

2) group members"S"will become afraid of this member of group B, which will entail a CONSTANT diversion of their
attention from “just forward”

3) new specialist in the group"S"will be aware of the considerations of each of their group”B" (in the usual working
order),
and it is of no use to him to know why exactly the previous performer was suspended.

When each Member of Group"B"
knows that his decision is decisive and will not be canceled even by the Commander-in-Chief
= that is, the consequences of replacing a key “commander” will fall only on his conscience
*
each member of group"B" = “supportive” of the cause no less than any other.
Consequently, the very fact of replacing one of the key figures is extremely unprofitable for him

in the end, he will do everything possible to resolve any conflict without losses,
and only in extreme cases will he apply his “post-Veto” right to such and such a person.

Yes, such a situation is practically impossible, BUT

such aright is NOT given for its use,

and for 100% CONCENTRATION of ATTENTION of member of group”B" on ONLY positive options for solving problems.
(Will you think about using the guillotine if you know that you can do it at any moment?)

Peculiarity:

But a member of group"B" might just make a mistake?

There is no mistake: the process of finding a solution to prevent the next conflict is a collegial process in the "S” group. And
everyone together cannot make a mistake. (They may fail, but they won't make mistakes).
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At the request of any member of groups S or A to the Commander-in-Chief
* decision of the Commander-in-Chief.

The task of group "B" is to ensure that there is no conflict between any member of group A and group "S".

Why is the opinion of one member sufficient from group A, but the opinion of the entire group is necessary from
group B?
The failure of a task is manifested in the fact that some conflict remains unresolved to such an extent that it stops work on
such and such a task.
The latter will force the party to the conflict to turn to the “last resort” - the Commander-in-Chief. If this happens, it means that
group"B" did not cope with the task.
The reason for this may also be the lack of effectiveness of someone in the group; in this case, an effective solution would
be to replace it.

The above is reflected in the formula:
at the proposal of any member of Groups S or A
*

decision of the Commander-in-Chief

Question:
Why not pass the decision to group "B" itself ?

Answer:

members of group "B" work on tasks independently of each other,

they work with each other only through meetings.

Therefore, each member of the group resolves a certain conflict separately from the others.
If he could not extinguish the conflict,

then the source of the problem is there.
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Why is the opinion of one member sufficient from group A, but the opinion of the entire group is necessary from
group B?

In work group A, the participation of all group members is not required to complete tasks;
but in group "S" - it is required,
That's why
from group "A" one member can be a party to the conflict,
and from the group "S" - everyone who is represented by the performers of the internal function of the
“Coordinator”.
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Public moral participation of the Commander-in-Chief in solving important specific problems.

Delegates of territorial cells
hold periodic congresses (conferences),
at which a representative of the Commander-in-Chief (or himself) is also present.

Delegates determine the most difficult "point"
according to which the “guilty” party is invited to a personal public (TV) meeting with the Commander-in-Chief.
This meeting is held with:
Commander-in-Chief
+ representative of the people = delegate of the Movement
+ representative of the dissatisfied part of the population = “irresponsible”
+ representative of science = member from group "S"
At the meeting, the Commander-in-Chief conducts a conversation with the “irresponsible” and gives him parting words.
This is a way to concentrate the attention of the population and authorities on “problem points”
1) there is authoritative (: head of state + representatives of science) propaganda to the population * using a
specific LIVING example,
= extremely effective for perception;
2) makes the representative of the Movement possess real “soft” power, therefore, in the following “problem points”
they will listen to him more
= costs of reforms will decrease.
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Indirect campaigning of the population in problem areas.

Since the members of the Movement are enthusiastic volunteers,

then they will WANT their social environment to also support the reforms;
and since they are simple people,

then they will use the simplest means to influence the minds of the social environment - words and emotions.
These funds are very effective at "Sort distances".
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Peculiarities:

The formation of the “Movement” is publicly announced immediately after the announcement of the start of the reform.
(No administrative actions.)

How to determine the Representative of the territorial cell of the Movement. __..
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How to determine the Representative of the territorial cell of the Movement.

The natural way.
It is announced that

with such and such frequency (at first - weekly)

Commander-in-Chief (later his representative)

invite to a meeting those members of the movement who need help in educational work with the population.
Some people will come:

5/6 there will be active participants in the Movement:

because help is needed by the “drivers”, not the “observers” (Which is what is required)

Those interested are invited to speak on the topic: “How best to involve the population in the reform.”
After the end of all speeches, it is proposed to elect Representatives of the Movement to the “Movement Council”,
according to proposals "from the field",
no voting
whoever is proposed and agrees will be the Representative.
Members of the Movement will decide all controversial issues themselves later.
As a result, representatives of each (almost) administrative-territorial unit will appear.
The Commander-in-Chief congratulates all the “Son of Reform” - the Council of the Movement.

If some territories are not represented, then
their representatives will definitely appear at the next meetings and will reach the Movement Council
according to the principle: whoever wants to enter, enters.

If the territory is represented by more than 1 representative, then
1) this won’t cause any problems,
2) in the future, members of the Movement living in the representative’s area will choose the best

Everything will be completed by itself:

on the enthusiasm of part of the population.
Group S helps to accelerate the process of strengthening the primary cells of the Movement.
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Group of scientific practitioners (6-7 people).

We take as a basis “Universal Types of Activities” (ATC) for solving problems. (This set of activities is required even for
brushing your teeth.)

. Statement of the problem (Tasks)
. Determining how to solve it (Methods)
. Search and selection of means of implementing the method (Search)
. Organizing “everything”: information, things, people. (Ordering)
. Coordination of “everything with everyone” (Coordination)
. Reception-Transmission of information and things (Movement)
. Solving unplanned small problems (Emergency administrator)
= Deputy of the entire "Internal Affairs Directorate”

~NOoO O WNBE

Branching into subtypes of functions is allowed, for example:
"Ordering" can branch into:
-- accounting of things and their condition: warehousing
-- accounting of people and their condition: personnel management service
-- accounting for financial transactions: accounting
-- accounting of cases and their status: paperwork.

Traditional division of the scope of work into “job descriptions”

has a fundamental drawBack - inaccuracy of boundaries between positions, which leads to:
or to downtime: “It's not me who should do this”,
or conflicts: “why me?”,
or a decrease in quality: “okay: | don’t know how, but I'll do it.”,

what is unacceptable in the reform process
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"New" money in the consumption sector is abolished,
including, replenishment of accounts of individuals is stopped.

Currencies (including national) = domestic use discontinued.

Cash money accumulated before the reform is credited to a personal spending account

Gold (like other things) can be used without restrictions for whatever.

Cashless money: remain only for calculations between companies; they cannot be sent to personal accounts
The final change in the functions of non-cashmoney ("account” money) =

-- remains a means of productive capital,

-- ceases to be a means of personal savings,

-- ceases to be a means of payment in the sphere of consumption.

Additional benefits:
-- A mechanism for economic independence from foreign exchange sanctions of other countries is emerging.
-- Inflationary processes caused by internal reasons are slowing down till 0.
-- Phenomenon will appear “auto” detecting violations of the reform law
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Phenomenon will appear “auto” detecting violations of the reform law.

Who is the plaintiff?
There are 2 real and constant forces: the Authority and the People
It is unacceptable to divert forces \ energy from the Authority - administrative mechanisms:
1) the reform should strengthen, not weaken the Authority
2) administrative mechanisms cannot take into account the mass of nuances of life, and therefore are ineffective;
3) as a result, decisions will be based not on the benefits of the reform, but on “"connections".
Another source of force \ energy is the population willing (as a Consumer) to support the reform.
--using this force does not divert forces from the Authority,
--the population will notice anything,
--a settlement that cannot be bribed (: there is no money) will be very effective against violators.

The energy of the population is included in the executive mechanism for preventing the above-described crimes as follows:
Each person who reports to the police
that the law on the execution of reform is violated in the territory of the state,
}
the state gives a significant motivation ..
}
the criminal is punished according to the laws
)
the identity of the criminal is published to the public:
SMS with a photograph of the criminal.

This approach will eliminate violations even theoretically.

20240421225948.

The following abuses are possible,

to prevent which a psychological "machine" is sufficient - rewarding citizens for identifying violators of the laws
implementing the Reform.

1. A way to profit from the reform = Attempt by the Seller to obtain funds for new purchases - much earlier than sales of
previously purchased ones

2. There is no need to pursue payment for labor with any values.

Reason: the owner knows that the worker will receive consumer values for free,
and this means that everything he "pays" for his labor with =was given in vain.
No one will give anything in vain.

Therefore, there will be no payment for labor in other ways.
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Prices and profits.

Consumer prices (registration).
Needed to calculate the Seller’s accounting profit from transactions with individuals.

Note:
Export and import prices
= formed as Back - by the market:
since international transactions are paid for in currencies.

Prices between companies within the country - "productive” prices - are determined as Back the reform.

The Seller gives the goods to the individual Consumer at the discount price.
The accounting price is used to calculate the Seller's revenue. Revenue is included in the calculation of profit.
Consequently, the Seller will be interested in inflating the accounting sales price on the domestic market,
which would allow him to receive “unearned” funds,
which would nullify his interest in improving the efficiency of his business. To prevent this, centrally determined
prices are used for ALL CONSUMER values.
To prevent this,
CENTRALLY determined
MARKET prices
are used for ALL CONSUMER values.
For this purpose, a government body for market pricing is created - "Department of Market Consumer Prices"

Luxury items - outside the reform

Abuse
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PUI takes into account both quality and quantity.
Average of two indices:

-- social quality utility index
-- social quantitative utility index
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Social Quantitative Utility Index.

For each product category, the value is calculated
Index of quantitative social utility of ALL Manufacturers of goods (= Index of all companies)

{ Number of “buyers” of the product }

{ Number of employees + owners of all companies producing the product category}

For each company it is considered
Company Social Quantitative Utility Index (=Company Index)

{ Number of “buyers” of the company’s goods }

{ Number of employees + company owners }

.Social Quantitative Utility Index counts as a comparison

Company index

Index of all companies.
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Sécial Quiality Utility Index.

The consumer evaluates the product as follows:

selects (from the list) a product category finds the manufacturer's number
gives a QUALITY rating.

Ratings of all consumers of the Product are added to the sum of accumulated ratings, and averaged.
This assessment applies to every employee (and owner) of the company that produces the Goods.
If a company produces several types of Products, then the ratings for all products are averaged.
If a person works in several companies, then his rating is averaged from the product ratings of each company.
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How people's desires and aspirations will change.

The main desires will be:
1) have a high index,
to gain access to any valuables, and first of all

do the job you know how to do best &
work with those who work best.

2) influence members of society with their assessments of the consumer values they produce,
so that they work better.

The people will become inspired and help each other.
More details on some categories =]
Sellers of consumer goods (retail)
Manufacturers and Wholesalers
Civil servants
Pensioners
Students and teachers
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Sellers of consumer goods (retail).

The owner will think like this:

- If I'm straining, and you're not straining (compare 10P from yourself and from the Buyer) - | won't give it to you, But if you're
also stressed, I'll be happy to give it to you.

If the Buyer does not show his Index, the Seller will not give him anything.

If I produce \ distribute luxury goods or social deficit,

then | will give it only to those who have a high index.

Only those who “give all their best” in their activities will be able to receive a high index,

which ensures that their interest lies not in the sphere of consumption, but in the sphere of production,
which ensures that these people acquire luxury \ scarcity for something useful,

which, in turn, will create conditions for them to perform even more effective personal activities.

Owner and accounting profit.

Since accounting profit does not allow saving,

but it is a means of increasing the company's efficiency,

consequently, index increases,

then the owners of the companies will begin to think more and more in this direction.

Moreover, it will be beneficial not so much to increase the quantity of the product as to make it more appealing to buyers.
Novelty will not be introduced to increase the price, even by deceiving the consumer,

but to qualitatively satisfy his needs.

The process of improving the company's product will become continuous in the country,

which will require technology upgrades,

which will increase demand from Manufacturers for new technologies,

which will ensure CONTINUOUS technological growth of the country,

and, since the source of this growth will be the interest of ALL the people,

then growth will be rapid and self-adjusting between sectors of the economy.

The latter is extremely convenient for managing the economic development of the country.

Thus, the interest of both the Distributor and the Producer moves towards increasing the rating = towards strengthening
reforms, towards the formation of a new (hon-accumulative) system of values, a new civilization.
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Investments and their profitability.

The country will develop with an efficiency 5-10 times higher than usual.
This means that the country will require large-scale investments
Rapid growth means that these investments will pay off many times faster than usual.

Proof:

It is known that countries in which industry is poorly developed

in the first decades of industrial growth, GDP growth was 5-10 times higher than that of “developed” countries.
Vivid examples: China: +16% = 10 times; India = 5 times.
A country with a NEW motivation (= new civilization) will have even greater growth. How many ?
The answer to these questions is given in the section “Analogy (at the country level)”

22-33% per annum for at least a quarter of a century.

Investments in such an economy will “pay off’ in proportionally less time, that is, they will be returned at record speed.
Considering that the reform leads to the unity of society, political risks = 0.
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Manufacturers and Wholesalers.

On the one hand, they need profit to expand their activities,
on the other hand, the consumption of individuals within a company within a country depends on social utility.
That's why,
companies producing means of production (commodity values for the Manufacturer) will:
on the one hand, try to increase profits,
but from the main side - try to increase:
+ quantity (up to not lower than the best indicators in the product category)
+ elements of the quality of its production are limitless: for the Consumer will evaluate highly only what is better
than the previous one.

The process of distribution by indices, based on the laws of personality psychology: simplified:
“If I work a lot, then the one who works a little is bad,” -

will lead to the fact that
those with high indices will be given the best,
but those with low indices - the worst.
To have a high index you need to work better than others,
and for this you need to direct all your efforts to improve your work.
and to improve work, it is necessary, among other things, to acquire certain consumer values. These are the values that will
become the most DESIRED.
If attention is focused on one thing, then it turns to the rest in small quantities. This means that other consumer values will no
longer be DESIRED.
The following consumer values are unnecessary to improve operational efficiency:
--luxury: fashionable cars, luxury housing, expensive jewelry, etc.,
--“new” goods, in which there is no new real utility, but which are imposed on the population in the pursuit of making
more profit than a competitor: the overconsumption market.
An effective employee of the country WILL NOT WANT such goods and services.

This will cause a change in the market for the required values in the country.
And this will change the direction of the use of funds by distribution companies and manufacturing companies. As a result,
Distributors and Manufacturers will WISH:
produce and provide something that will help the population increase labor efficiency
(But not that “it’s more profitable to sell”).

On the other hand, the dependence of the indices of all company participants on the assessment by Consumers

will create a DESIRE to improve the quality of products/services
(But not to impose on the consumer a bunch of the same thing, but in a different wrapper)
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Civil servants.

My index depends on
"service" index
and the average index in society.

Way to increase your index =

carry out orders from your chief well;
work with those chief who work better.

oz, <— BaACK



Pensioners.

The concept of "pensioner" essentially ceases,
as it is replaced by the conditions of the social class in which the "pensioner" was.

But, with old age, efficiency falls,
the person is no longer hired,
PUI has nothing to support, and the average index begins to decrease.

In this case, I-pensioner depend on the consumer assistance of my loved ones,
and, therefore, in order for my loved ones to want to help me,
| need to be useful to them: caring for children and grandchildren, household chores.

Such interest unites generations, returning the "good oldNe times" to the family.
In any case, I-pensioner has PUI.
Old people who are not served by anyone should be sent to nursing homes, where they are provided with everything they

need,
and they themselves also evaluate the quality of the "Nursing home" service.
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Students and teachers.

A student's PUI should encourage him to study better.
Students' knowledge and skills are assessed in an educational institution by teachers according to a certain system.
Therefore, a student's PUI = the average of all assessments of his knowledge by teachers.

A teacher's PUI should encourage teachers to teach students more effectively.

The effectiveness of the teaching process (and not the students' knowledge and skills) is assessed by its consumers =
students.

Therefore, a teacher's PUI = the average of all students' assessments of his teaching process.

A PUI of any other employee of the institute
= the average of the sum of their assessments given by any employee of the institute.

Only those who know what to assess will assess here,
therefore the composition of the assessors will be regulated "automatically".
Abuse in assessments will be an exception.
Reason =
many people evaluate
the average is calculated from all previous evaluations (cumulatively)
therefore one distorted evaluation has little effect on the average,
therefore intentional distortion is useless.
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Any product, work, or service is rated by the Consumer using a smartphone/or computer:

which acquirer
= any,

how often
= back making the next purchase of the same consumer value (one purchase - one rating)
Note: upon the second acquisition, the right to evaluate the previous one disappears
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Everyone's PUI is visible to everyone.

So that the Seller knows the Buyer's PUI,
so that he decides: to give or not; whether to give away something highly useful or something simpler.
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Anonymous: The seller does not know who exactly valued it..

In order not to provoke personal grievances or pandering,
so that the PUI is not distorted
and so as not to provoke deceit in society.
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Each new assessment is immediately taken into account in the person’s PUI.

So that a person's usefulness is displayed immediately,
so that everyone knows at any time that someone’s PUI is current.
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Total rating of a company employee = average of ratings for all company products.

If a person works in several companies, then his PUI = the average of the product ratings of those companies.
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Target= make the country the most efficient in the world economically and socially
Expected result (except the above).

-- the nation turns into a continuous source of active population ENERGY

the nation become united: everyone will realize that the general well-being of the country depends on him “here and now”,
and what EVERY resident of the country also does,

that the “new order” does not depend on the shortcomings of the “boss”, that it is “equality” and “fair”.

A new “We” will appear: united not only by the Goal, but also by the MEANS of achieving it.

--people will become inspired, enthusiastic and diligent;

-- the reform does not contain irritants for any social stratum layer.
-- NATIONAL pride will be born,
uniting: both the poor and the rich; “friends” and “strangers” based on:
"Life has become interesting" * "We are the first in the world"
- Military "Sowdowns” and military coups will stop.
Politicians are losing value: “who is stronger”
: the one who started and maintained the development of the reform will become stronger.

-- accelerated and CONSTANT economic growth: 10 times in 10 years- Analogy

profitability of a growing economy
*

stability (= safety) of a social organism

continuous flow of large investments

- a stream of specialists from many countries will flow into the country (and then pour in)
: tired of the stress of depending on money, they will ru"S"to the “non-monetary” paradise on earth.

-- skilled labor * investment in capital goods = CONTINUOUS continued growth
-- continuous growth =+ inflation (over time) WILL STOP:
1)through inflation it will be impossible robing the population in order to force them to work;
2) production growth rates will outpace consumption rates:
Significant dynamics in improving the quality/quantity/range of products is possible only through the introduction of advanced
means of production.

-- The national currency will CONTINUALLY rise in price:
continuous economic growth = OBJECTIVE increasing in confidence in the national currency.

--imports will become cheaper and exports will become more expensive. Budget deficits will become virtually impossible.
-- The country will become a leader in the civilizational development of mankind. The pioneers will forever be remembered in

the history of civilizations. The benefits are obvious.
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Expenses.

--without changing the power system

--no change in personal and private property

--without coercion and quarrels in social strata

--legislative ban on replenishing personal accounts of citizens + cancellation of banknotes and coins of the local currency.
--investment in the project = $1 million + 0.2 million annually ...

--creation "Department of Consumer Prices" __.

--creating of a database: company - list of employees

--the accounts of individual entrepreneurs are transformed in the account of companies

--test run of the new system
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Investment in the project = $1 million + 0.2 million annually.

Creating an application for calculating Indices

= 0,5 million$
+
Annual maintenance
= 0.2 million$
+

Payment for S-Group employees =
depends on what salaries future participants refused
Payment deadline = deadline for full implementation of the project. Expected 1-2 years.
min = 0,5 million$

Separately =
work of the consumer prices department
and so on. state expenses
Total:
First year = $1 million
subsequent = $0.2 million.
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Analogy (at the country level).

Let’s take 3 countries with record industrial growth in the first 27 years of the “new life”: USSR 1928-1954
China 1990-1917
Imperial Russia 1887-1913

The reason for the record growth was:

Imperial Russia = transfer of the economy to a capitalist mode of production with the involvement of international
capital.

USSR = transition of the economy to a social mode of production - “socialism”.

China = public economy opened up to international capital (through the annexation of Hong Kong)

Rate of industrial development
THE SAME people
located in different civilizations.

27 vears of the formation of socialism 1928-1954
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27 years of the formation of capitalism - 1887-1913

China - after the whole West began to invest in it (Hong Kong).
shows the SAME pace as the USSR with limited investment

* hitp://chius.ru/

We see that the growth of the USSR and China (for the corresponding periods) is the same. What does it mean ?
That an economy built on the basis of the ENTHUSIASM OF THE POPULATION gives the SAME EFFICIENCY as an
economy built on the PURSUIT OF MONEY.

What will happen if it happens in some country
and a rapid rise in the enthusiasm of the population



and large-scale investment growth?
The growth rate in the USSR (“enthusiasm”) exceeded the growth rate of the Russian Empire (“pursuit of money”) by 2
times!
This means that if a revolution were to take place in China today, giving rise to the enthusiasm of the population, then the
rate of development would DOUBLE, and amount to 22% per annum, steadily, for many years.
And this is not growth in some narrow sector of the economy, but in all major areas.
That is, individual industries would grow for several years at a rate 1.5 times higher than the average = 33% per year.
Fantastic ? No: psychology of personality and groups.
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A mechanism for continuous redefinition of prices for consumer goods is being established.

-- How to determine the prices of consumer goods ...

-- How to determine the list of consumer values in the region ...
-- How to establish continuity of updating market prices ...

-- How to prevent distortions in pricing ...
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How to determine the list of consumer values in the region.

At the preparatory stage
= compiled based on data :
1) customs
2) announced prices in the media

For all other values
= based on Sellers' requests.
To do this, Sellers are asked to report new (not listed) products themselves. to determine the "sale" price.
Explanation: Since the Seller will not be able to receive revenue into the account without such a price, he will want to do so.
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How to determine the prices of consumer goods.

Price
= price of analogues in neighboring jurisdictions \ areas
Information sources

1) Mass media: Internet.
2) Personal informants:
police (economic),
owners of outlets (for a fee)..
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How to establish continuity of updating market prices.

A department of at least three employees is created.

Once a day they repeat the collection of price information.
Entered into the price database.

The data is immediately reflected in the Application on smartphones.
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How to prevent distortions in pricing.

One of the employees must be a representative of the central bank s
There will be a strong influence of corruption on the employees of the department.
Solution = include representatives \ observers of ALL industries \ clans of the country.
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Department of Consumer Prices.

One of the main tasks is to | the time for determining the price of any consumer value \

to a value that does not interfere with the work of the Seller.

| think it is < 1 hour.

Solution = maximum automation of calculation * complete absence of participation of the Department employee.

Market prices of goods, works and services are determined in the following sequence

1) Main: for selective (random) automatic express surveys of sellers of similar goods

2) auxiliary: by analogs of prices in nearby jurisdictions and online deliveries
3) exclusive: by calculations of full-time experts
4) impossible: by pre-reform prices

Reasons

The price is calculated without the participation of Department employees, automatically
Goal = instantaneousness of the process of determining the market price.
The list is constantly updated.

ATTENTION:
Setting directive prices for market goods

Loss of trust of business by the AUTHORITIES

11| Efficiency of the reform by TIMES (= killing of the reform).

Back |
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Reasons

1)

the initial collection of information requires a lot of labor and time:
"rewriting" prices
organization of collecting a list of prices from Sellers

Harm =

delaying the reform

increasing personnel costs

frightening the population with pre-reform uncertainties
2)

by the time information on all goods is collected, the information on some goods will already be out of date.
Harm =

partially a waste of labor and time

discrediting the mechanisms for implementing the Reform.
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Main: for selective (random) automatic express surveys of sellers of similar goods

Who starts the survey
=to | time, you need to start with minimal time loss
Solution = Retail Seller

When
= as needed

How
= in the application on the smartphone
enters information about the product
that he wants
* for simplicity, the Application will have standard forms for typical product categories)

The request is automatically sent to the Sellers of this product category
to whom exactly:
1. or-all
Explanations: since after collecting 5% of opinions, the survey automatically stops, then the group of Evaluators will have
little time to respond
2. or - 6 randomly selected from the list of Sellers
Explanation: to | the time spent by all Sellers on evaluating the product.
Evaluators do not know the author of the request.
Reason: so that interpersonal relationships are not used to the detriment of the Reform.

*

with 2 questions:
what price would be fair for the requested product (thing, work, service)
minimum
maximum
The survey is automatically assigned a number (hereinafter - product number)

After receiving the numerical answers of the Experts,
the program stops the survey

the average price is calculated

which is automatically assigned to the assessed product.

All information on the product:
Requester
Appraisers
is presented in the folder "Product No. - price".

ANYONE has access to this folder.

When buying, the seller: to receive the proceeds to the account, - it is necessary to provide the buyer with the product
number * on the smartphone.

(This is done by scanning the QR code of the product and the seller).

The price is considered valid until:

1) itis changed by a new survey
2) the Department's decision is suspended: "against".

Abuse

Why would the buyer have the desire (energy, time) to do so?
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Military achievements will grow at the same speed as general economic achievements = many times faster.

The main source of growth of power is the emergence of a strong desire among the population not to allow losing what the
Reform gave them.
The population will voluntarily and enthusiastically go "to war" with any aggressor-threat to a new life.

The soldiers will have the same motivation.
Facts:

No. 1:
The civil war in Russia in 1918-1922: it was established that a highly motivated fighter is equal in effectiveness to 10
ordinary fighters (military specialist - Frunze).

No. 2.

The civil war in Russia in 1918-1922 - the battle of Tsaritsyn. Delivery of artillery (and ammunition). It was necessary to bring
heavy guns, which were 600 km away, in 6 hours. This is an almost impossible task even in modern conditions, but then the
soldiers and people WERE ABLE to do it.

Ne3:
World War Il - USSR - time required to bring a heavy artillery gun into action - number of soldiers = 3. After the war, in
peacetime, at least 10 soldiers could repeat the same thing during exercises.

Ne4

After World War Il. Exercises. Task: a truck with a heavy gun must drive to a certain point, and the gun crew must bring the
gun to combat readiness. Standard time - 60 seconds.

The military of the German Democratic Republic and the USSR participated.

The Germans completed the task in 45 seconds, the "Russians" - in 25.

The reason for such speed among the "Russians" is that the winner of World War Il = the ultimate desire to win in any
situation.

Ne5
(ESPECIALLY indicative for industrially UNDERDEVELOPED countries)

The beginning of the civil war in the Russian Empire and the end of the First World War (1917-1922). To protect the new
government, millions of new fighters are needed, but:

1) the country has already suffered heavy losses at the front: up to 1.8 million soldiers (Z') and 13 mil civilians (: ")
2) the country is half depopulated: population 1914 = 166 million, 1917 = 91 million, = 55% (:™).
3) The remaining male population fit for war (estimated) was < 15 million.
The size of the Red Army:
beginning of 1918: < 0.2 million soldiers,
+ 1.5 years (heaviest losses: in mid-1918 the new government controlled only % of the country): 3 million.
+ 1 year (1920): 5.4 million.



Where did such a colossal increase in soldiers come from:

5.4 million + 1.8 million dead - 0.2 million at the beginning of the war

= 7 million people

= almost half of the remaining corresponding male population of the country.

"Driven together"? In order to lose the power they had just won?

They didn't drive together: all mobilizations were carried out exclusively among the poor, and "class enemies" were not even

sent to die.

Who could have done it?

Let us compare the strength of the mobilization of the Russian Empire in 1914 and the strength of the new country in 1918:

Russian Empire
_ 1914

population, people (:) 166 million
state of the economy excellent
controlled territory 100%
share of rural residents 82
mobilized into the army during the entire war:

--million (:Y)5,4 million

--% of the population 3,3%

It turns out that:
in a country with a ruined economy,
in a country that just lost 10 million people killed in the war,
in which 60% of the population remains,
a significant part of whom hates the new government,
to forcibly mobilize another >6% of the population for war is
IMPOSSIBLE!

Answer: the people went en masse to the army: to defend and die,

Moreover, the most "underdeveloped" ones went - the peasants.

There are many examples from the history of other countries.
Conclusion:

When people REALLY want it, they show INCREDIBLE efficiency,

not taking into account the dangers to life itself.
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1920

91 million

(average from 1917 and 1926)
devastation

25%

(1918)

82

5,4 million (not counting those killed in 1918--1919 rogax)
> 6%

- VOLUNTARILY.



Preparatory organizational activities.

Preparing and accustoming the population to constantly participate in survey assessments  zozsss.
*

Creating of a database: company - list of employees.
:required for quantitative Index calculations.

( zrscszmnesss «— Expenses « Back)
*

An application for smartphones is being created to generate social utility indices.
*

A “Department of Consumer Prices” is being created ..
A mechanism for continuous redefinition of prices for consumer goods is being established.
All consumer values are divided into categories (for calculation quantitative PUI).

The operational functioning of the above elements of the reform is being worked out.

Back |
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The state gives a significant incentive to the one who reported the crime.

who decides
= court
*
motivation amount
= maximum PUI * for a period of 1 year

Explanation: maximum PUI will allow you to get the best consumption for 1 year, which:
1) will increase the average PUI,
2) will allow a person to solve any household needs at a high level.

Back |
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The criminal is punished according to the laws.

including =|

after receiving a statement about a crime from someone,
company and personal account funds are automatically withheld
for the period of determining the facts confirming the statement.
Term = non-harmful, for example: no more than one hour ..
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Term = non-harmful, for example: no more than one hour
To do this, develop and publish a procedure that is obviously proving a crime, for example:
The consumer presents a video/audio recording of a criminal offer (even if he accepted it).

Legislators take into account the peculiarities of the regions.
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Luxury items - outside the reform.

Importance for the Reform.

Luxury goods (LG) are not essential consumer goods,

and therefore do not motivate the Consumer to purchase them,
and therefore cannot encourage labor productivity,

and therefore it is advisable to exclude them from the reform.

Definition method:
How to define luxury goods

Exclusion method from the Reform.
The assessment of such goods according to the rating system is not performed.
Such goods are purchased for the Buyer's (or company's) money, but are not purchased for the Rating.
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How to define luxury goods.

Formula:
goods of one consumer purpose

|

Super expensive ones are determined ...

they are luxury goods.

so - for each group of goods.
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Goods of one consumer purpose

How to divide goods into such groups.
According to common sense of employees of the Market Prices Department.

Note:
1) it is not profitable for anyone to abuse here, so the decision can be delegated to the level of performers.
2) any error will be very quickly identified by the feedback mechanism of the Consumer and Seller with the Market Prices
Department, so the losses for economic development are practically zero.

As a result, we will get a list of a couple of thousand groups.

Grouping them according to existing classifications: food/food and non-food; classes, groups and subgroups, is not essential
for the reform.

wonwnesss, <— Back



Super expensive ones are determined.

Principle:

Any! consumer value can be produced:

1) both to satisfy the need common
to all property strata of consumers of this value,

2) and to satisfy an additional need,
which manifests itself only among wealthy consumers.
These goods are "super-expensive"

Selling prices are collected for a certain product group

arranged in ascending order;

5% of values are excluded from both "ends";

we obtain the calculated minimum and maximum values.

A product whose price exceeds the calculated minimum by more than 18 times = super-expensive product.
(Exceeding by 6--17 times = expensive product).

Exceptions:

Cases to which the formula is not applicable are decided by the Department of Market Prices * based on the formulas for
determining market prices of goods.
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Selling prices are collected for a certain product group.

Commodity prices are collected if a commodity group in the country is sold
or at different prices in quantities of at least 36,
or by independent sellers in quantities of at least 36.

or the variety of prices is less than 36,

or there are less than 36 independent sellers, then
whether to classify the goods as super expensive (or to classify the entire group as normal or super expensive) is decided by
an employee of the Department of Market Prices based on his common sense.
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Abuse

Example #1.
Attempt by the Seller to obtain funds for new purchases - much earlier than sales of previously purchased ones.
(to obtain "unearned” funds)

The Seller used to sell his goods for, say, 100 days.

He makes an agreement with someone to take all his goods in 1 day.

As a result, the Seller will receive "revenue" to the company's account not for 100 days, but for 1.
?= Will there be harm to the Reform and what will be the effect of such deception?

For a message from any person with an Index,

about a conspiracy of third parties to deceive society,

the state gives him a significant reward to the Informant about the crime, ...
and the criminals are punished by law.

IMPORTANT:
if you knew that someone was stealing from every purchase of every citizen of the country (including yours), let's say 0.01%
- a completely insignificant amount for a person's budget - then would you have a negative attitude towards such a person?
Yes.
This is an example of a new morality, when the fraud of one will be negatively perceived by ALL citizens, since such fraud
destroys the ENTIRE system of the new life.
That is why such actions will be APPROVED by the social environment, and people will report such cases to the authorities
IMMEDIATELY and EVERYWHERE.

The offender, knowing the mood of society, will be afraid that:
1) for the sake of a multiple benefit
an accomplice to the crime will betray him (and will not be punished)
2) and ANY witness will IMMEDIATELY inform the authorities about the crime
and will receive,
1) physiological = significant material encouragement,
2) psychological encouragement - approval of the act from his society.
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The reform will not cause ANY negative upheavals in any social stratum.

The established foundations of social life will not change:
the rules of property, statehood, administrative, criminal.
The rules of morality and labor legislation will change a little.
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Personal Income Taxes =0

In industrialized countries, the cost of salaries for personnel of all security agencies
exceeds budget revenues from personal income tax,

therefore, the abolition of the monetary maintenance of only security forces
already allows the abolition of personal income taxes.

The motivation of security forces personnel
ITSELF will be replaced

by a stronger

- socio-psycological
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F.AQ.

Questions about the future are endless.
The answers - are based on the past and present.

--If a person is not forced to work, then he may not work at all? .
--Will it happen that entire industries (sub-sectors) will be left without labor? ...
--Is it possible to carry out reform not in a large metropolis, but in a village? ...
--Will it all end in a social rebellion, a coup, a revolution? .
--If a flow of new labor force pours into the country, where will they live? ...
--What will a “mobile city” look like?
--Why can't this reform be carried out in some developed country, for example, in Russia?
--Should we accept everyone who wants to move to the country? _ .
--How many years will it take to implement the reform? _..
--Is the birth of a new civilization in a politically and economically “backward” region scientifically impossible?
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Question:
If a person is not forced to work, then he may not work at all?

Answer:

1)

If a person is given the opportunity to do what he wants, then he will do it

NOBODY wants to do nothing.

2)

IPU is something that the social environment rewards, but it also forces (much stronger than money).
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Question:
During the transition period, labor is redistributed among sectors of the economy “as it wishes.” Will it happen that entire
industries (sub-sectors) will be left without labor?

Answer:

According to the Theory of Probability, 75% of people will continue to do what they did before (: people are inert and lazy),
and critical processes start at 67%.

To neutralize the “hole” of 25%, financial and organizational (operational managers) reserves will be required.

This is why the government needs to have a reserve of money.

If you prepare in advance to neutralize the “holes” in the workforce, the problem will drop to 16%, which will require
government efforts, but not the utmost.
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Question:
Is it possible to carry out reform not in a large metropolis, but in a village?

Answer:

The smaller the society, the more difficult and longer the reform will be.

For example, in a country with a population of 100,000 people and five sectors of the economy, another 100,000 people
(with their families) came to “paradise” over the course of a year. The new workforce knows how to do what is being done in,
for example, 10 sectors of the economy.

Then 50,000 people will not be able to work where they “really want”, then they will have to be “fed” until the economy “gives
birth” to 5 more industries. This = expensive and reduces social enthusiasm - the main driver of reform. Bottom line = more
expensive, longer and less fun. But probably.
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Question:
Will it all end in a social rebellion, a coup, a revolution?

Answer:
Have you ever heard of happy people somewhere rebelling?
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Question:
If a flow of new labor force pours into the country, where will they live?

Answer:

In mobile housing of a new type. Why exactly?

1) so as not to replace the reform with many years of preparation for it (and building housing for at least 25,000 families will
take years);

2) so that during the period of formation of the new, the process of redistribution of labor does not slow down the rate of
formation of the new

: the issue of changing housing is one of the most inert in people’s lives, which entails a loss of time and enthusiasm, and
such losses on a large scale will significantly slow down the effect of the reform.

What will a “mobile city” look like? This is a “technical” question, that is, one that can be decided beforehand. (Although we
have specific considerations on this topic).

At a glance, a “mobile city” is seen as follows:
in the center - consumption infrastructure;
around the center - housing;
in the outer circle - production, -
some economic "ancient Greek" polis, cluster.
Such clusters are scattered according to the honeycomb principle: each neighbor has three neighbors.
But it is also possible to build according to a “linear” principle: stripes are “added” to the existing urban infrastructure:
consumption infrastructure + housing + production.
This is a question for narrower specialists, but personally it seems to me that the cluster option is more universal.
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Question:
Why can't this reform be carried out in some developed country, for example, in Russia?

Answer:
And in Russia, and in the USA, and in Sweden, and in Switzerland, and in other “developed” countries they will refuse. The

reason is as follows:
The West and the East are intensely preparing for war, so every month is important for them. And the reform will lead to a
temporary slowdown of the economy for at least a year. And this is unacceptable to the real rulers, neither East nor West.
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Question:
Should we accept everyone who wants to move to the country?

Answer:

No: the lack of diversified development of the country will lead to the need

long time

waste resources (and time)

for the maintenance of the masses of people, which is practically useless for reform.

The government must develop a plan for the desired specialties * at the preparation stage of the reform.
And as the economy develops, expand this list.

Principal feature:

If a person wanted to come “to heaven”, then

it is necessary that all his thoughts be only in “paradise”.
*

Family is the direction of a person’s thoughts, which can occupy up to 50% of his will.

Therefore, the list of desired specialties should imply that the entire family of a person is allowed to enter, as well as those
with whom the connection will be recognized as integral: parents, relatives, associates, etc.

(This will pay off multiple times, including due to the fact that

such a rule for people islmuch better than what they expected,

which will “automatically” increase the dedication of those accepted

for at least a year,

and the first year of reforms is decisive).
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How many years will it take to implement the reform?

Term is determined by speed, and speed is determined by acceleration.
If you work with “acceleration” tools, the period will be minimal;

if - with “speed” tools, then acceptable with reservations;

if - with the tools of deadlines, then the reform will never be realized.

But, if the car starts moving with “mad” acceleration, the car will be damaged. Therefore there is a contradiction:
the faster, the lower the costs,

but if we do it right away, very quickly, then we won’t move at all.

Solution:

The process of gaining speed must be made as smooth as possible.

This does not require a careful calculation of the future (which is theoretically impossible),

and use "Dynamic scheduling”.
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D)./namic reform plan.
(Dynamic scheduling)

A dynamic plan differs from a static (generally accepted) plan in that
the task is not to describe the future down to the “screw”,

and the task is to move forward

with simultaneous CONTINUOUS adjustment of movement plans.

In other words:
start with solving the main tasks of the “first line”
in the process of solving them, find and refine the technology for solving the main problems of the “second line”
and so on until the last “line” of tasks.
After the “next line” is 2/3 solved,
it is necessary to direct the main forces to the “second line”,
and leave 1/3 on the first one.

Organizationally, the “first line” of tasks is formed as follows:

Group Sh proposes to the Government (Group A) and the Sheikh (Commander-in-Chief) a Strategic Plan (interspersed with
Tactical and Operational)
to raise all questions and doubts;
the received material is being processed
to develop solutions for each position;
material is included in the Strategic Plan,
which is then used as the Work Plan.
There is no second round of polling.
*
during its implementation
stakeholders have new considerations
they are being worked on by group Sh
and are included in the Current Work Plan.
*

This is repeated until the reform is implemented.

That is, in the future the plan ALWAYS represents:
a detailed action plan for “today”;
tentative plan for "tomorrow";
contour plan for "the day after tomorrow".
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Is the birth of a new civilization in a politically and economically “backward” region scientifically impossible?

Practice shows that science, to put it mildly, knows little about civilizational issues.
Example No. 1.

The revolution in Tsarist Russia and the subsequent change in the method of production clearly proves this.
Look..

“According to science,” coming to power could be achieved in the country where
the professional proletariat (working class) forms the basis of the working population,
and where it would be strongly organized politically.

By that time, such a country was, for example, Germany. Number of workers:

Germany large cities (42) > 2 million = 3% of population 65 M
all cities > 20 million =1/3

Russia large cities (19) = 0.5 million = 0.3% of population 171 M
all cities (1913) = 3 million =1.7%

That is, the mass of the organized proletariat
in Russia was less than in Germany

at 10 ! time

Organized.
Determined by the presence of a leading party,
its quantitative and qualitative composition.

Quantities:
In Russia before the revolution (February 1917) there were 10 thousand party members (Bolsheviks) = 0.006%
in Germany (1912) there were = 1 million = 1.5% members of the Social Demaocratic Party
RESULT = in Russia the party was numerically weaker than its German counterpart at 256 ! once

HOWEVER !
History decreed that the revolution took place not in Germany, but in the “wrong” Russia.
Second example.

The "smart" West planned a war against the USSR in the mid-20th century.

Thousands of the smartest people, the entire leadership of the West, prepared and decided.

How did it end?

The West lost half of Europe and Asia, the world colonial order fell apart, and it became dangerous to use naked force.
This is direct evidence of the “blindness” of civilizational science.

The civilization of the so-called “West” - globalizing capitalism - appeared only half a thousand years ago.

Today the world is completely globalized. The soil for further growth of Western civilization has dried up.

World authorities in the study of civilizational patterns, including: N. Danilevsky, O. Spengler and A. Toynbee) argued that
(M"all civilizations go through the same one-variant "organic" cycle: they are born, develop, and ultimately disintegrate and
die. The end to which the "Western" model has come is characterized as "the fundamental problem of the West, which
consists in the gap between 'Spirituality and soulless materialism"

This finish line at the end of 2023 and 2024 was voiced by the top officials of “Western” civilization:

2023, US Secretary of State Antony Blinken. (:1)
"What we are experiencing now is more than a test of the strength of the world order that emerged after the Cold War. It is
the end of it."

2023, US President - Biden. (:Vi)
"We spent 50 years in the post-war period where it worked pretty damn well, but now the steam has kind of run out. The
steam has kind of run out. We need a new, new world order."

2024, EU - High Representative of the European Union for Foreign Affairs and Security Policy J. Borrell. (¥+(3
"The era of Western dominance is finally over."

2024, UN Secretary General - Guterres.(X)

"Our world has entered an era of chaos

..potential areas of conflict and weapons are being developed outside of any framework, creating new ways for humanity to
kill each other and for humanity to destroy itself."



And no smart people, no financial or military “strongmen” can stop this process.

Yes, science is growing, but why on earth should we believe that if after the first fiasco: a revolution in Russia, -

scientific thought was not enough to correctly calculate the outcome of the war with the USSR, then after the second fiasco:
the defeat of the West in the war with the USSR, civilizational science can suddenly calculate the outcome of the third world
war, the emergence of the sprouts of a new civilization? There is NO reason to believe so.

So it is now: the birth of a new civilization will NEVER happen in a “scientifically correct” country!

Then why doesn't this happen in Arabia?

Especially after the founders of capitalism (the USA and Europe) began to interfere with the lives of everyone in the world
with endless “sanctions”, which simply FORCED rapidly developing peoples to seek real INDEPENDENCE.
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Abuse:

The seller wants to raise the price,
to do this, he enters information into the smartphone that
distorts the value of the product in the eyes of the sellers being interviewed

The essence of the phenomenon
= harm to the reform
particular: increased price for those who have funds in the Exchange accounts.

The solution
= punishment
by what and by whom
1)
| Index of the patrticipants of the Seller's company
by those Buyers who were not too lazy to compare the qualities of the product written by the Seller with the real ones.
2)
Blocking "sales" of false goods
Punishment = deprivation of the right to sell anything at retail.

The buyer (or anyone) can send his application (oral or written) to the Department
The process is in the Appendix + simplified as much as possible.
The Department carries out an expert check.
3)
The Buyer (or anyone) files a lawsuit in court for deceiving the state by the Seller.
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Why would the buyer have the desire (energy, time) to do so?

1)

The Mass Consumer will be happy with the Reform,

and, therefore, dissatisfied with those who harm it.

Therefore, if he estimates his costs of "restoring justice” as much less than the benefit,
then he will complete the procedure for notifying the Department.

2)

If the Buyer filed a claim (claim) in court,

and the court made a decision in his favor,

then he is awarded a reward for "assistance in maintaining the law"

as indicated in The state gives a significant incentive to the one who reported the crime .
That is, when it comes to, in the Buyer's opinion, a "big deception”,

then it will be BENEFICIAL for him to spend his time on legal proceedings,

and he will go to court.
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Explanation.

Public utility of companies' personnel = so that consumers of their products live better,
And the public utility of the owner = so that the staff of his companies lived better.
Therefore, its PUI depends on the PUI of those who work for his company, and not on PUI companies.
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How PUI is formed in representatives of different types (not) activities.

-- Those who have foreign payment funds accepted in the country: payment cards, checks, currency
They can buy everything :
or as "Inbound tourism": a foreign payment card or interbank transfer
or with PUI
-- Owners of companies
PUI = PUI of his company
If there are several companies, then = average from IP employees of all companies.
Explanation
-- Manufacturers and Wholesalers
PUI = average PUI for all years starting from the first year of receiving PUI.
-- Pensioners:
PUI = average PUI for all the years of the PUI estate.
-- Students, Schoolchildren and teachers:..
Schoolchildren do not have PUI: their parents provide for them.
students' PUI is determined by the educational institution
teachers’ PUI is determined by student assessments
-- Scientific workers:
PUI =determined by the assessments of customers, including the government.
-- Tourism( = "second financial frontier") _.

-- Security forces
PUI = established by the legislature
-- Departments and Department of the State
PUI =the average of (the “service” index) + (the average index in society).
-- Prisoners
PUI = average PUI for all years starting from the first year of receiving PUI
-- Unemployed (for any reason)
PUI = average PUI for all years starting from the first year of receiving PUI
-- Housewives
PUI = 0: they are provided by the owner of the house.
-- Clergymen
If the church is provided by the state, then as "departments and departments"
If there is a bug, then as "manufacturers of things, work, services."
-- Medical personnel
If the institution is provided by the state, then as "departments and departments".
If there is a bug, then as "manufacturers of things, work, services."
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Political economy side.

Money in the consumer sector of the economy
currently performs the following functions:
-- measure of value,
-- measure of price for Luxury,
-- means of accounting for debts ("payment"),
-- and means of coercion to labor.

1)

Measure of value

= measure of labor = life of people spent on production of Consumer value (:thing, work, service)
is used in the economy of the main mass of producers - mercenaries

2)

Measure of price for Luxury

= measure of proportion of demand from "employers" (representatives of the social class, having financial opportunities by
orders of magnitude greater than mercenaries),

and the quantity of consumer values

(which are necessary not for the production of their labor force, but for ensuring the socio-psychological significance of the
owner) - luxury.

3)
Means of accounting for debts ("payment")

4)
Means of coercing to labor and taking away it (part).
It is applied by the political system of the modern commodity society.

What and how does the Reform change.

1)
The measure of SPENT LIFE of people on the production of Consumer values
is replaced by the MEASURE of ACQUIRED LIFE from the consumption of these values,
when the Consumer value is assessed not by its "labor costs", but by its "life profit".

It is this function of the Social assessment that makes possible and inevitable
the outburst of enormous productive energy in the Mercenaries,
which forms the economic (along with the psychological) benefit of the reform.

2)

The measure of the price of Luxury does not change.

The reform only slightly changes the form of using this measure:
an individual purchases Luxury not in his own name,

but in the name of his company,

but uses it as before.

3)

Means of accounting for debts ("payment").

The phenomenon of personal monetary debts is made impossible by the Reform,
therefore its existence ceases.

4)

Means of forcing to work and taking away (part of it).

This phenomenon is not specifically political economy, but is political economics.

This phenomenon ceases to exist due to economic insolvency at this stage of human development.
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Differences between the reform and historical analogues

TOTAL = The possible reasons for the beginning of the Reform are COMPLETELY different from the reasons for
the historical analogue

Why do you need to know this?
If the reasons for the proposed reform were similar to the reasons for that event, then the reform was doomed.

The closest (?only) similar phenomenon is War Communism in Russia in 1918-1921.
It was during the War Communism that money was abolished for the first time in Russia.

Reasons for War Communism and the Abolition of Money
The termination of commodity relations, as a result of which money became NOT NEEDED by any social class.
The reason for commodity relations = the impossibility of providing the Village with the City’s products in quantities
sufficient even for simple reproduction.
The reason for the impossibility = a long war that bled the industry dry

Reasons for the reform :
1.
the impossibility of increasing the efficiency of the country's economy
Reason = exhaustion of exploitation possibilities
2.
and as a consequence - the threat of loss of power
Reasons:
2.1. or redistribution of economic and political resources of countries within the framework of interstate relations
(economic unions, blocs and wars within them);
2.2. or the struggle for control over the profits from the sale of the country's mineral resources;
2.3 or both.

Conclusion:

The possible reasons for the beginning of the Reform are COMPLETELY different from the reasons for the historical
analogue.
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Reasons for War Communism and the Abolition of Money.

Objective:

1) Primary = physical and economic:
proportion of the PHYSICAL economy of the country: City - Village
+

war = "accelerator" of the insecurity of the Village with the City's products
2) Secondary cause
administrative-economic

3) Tertiary cause :
psychological-economic

Subjective (with the new rulers):
1) Wants
2) Fears

And no.
loans, prices, parties, Bolsheviks, "random” coincidences, etc.

During the war, the country's industry experienced exactly critical decline.
The phenomenon turned out to be at the level impossibilities recovery in the old ways.
For a brief proof, see — sz ... .
According to the law of Probability Theory, it is possible to “restore” a critically destroyed phenomenon — industrial production

it is possible only by the methods of the NEW phenomenon, which are FUNDAMENTALLY different from the methods of the
Old.

Then only material forms would remain from the old phenomenon,

but on the basis of which a completely different device was assembled with much better characteristics.

A qualitatively new method of construction (not restoration, but rather re-construction) of industry
there was not a spontaneous (market) but a centralized (PLANNED) organization of production and consumption.

This law of Probability Theory inevitably led to
first the change of power from the landed aristocracy to the power of the industrial bourgeoisie,
and then to the change of power of the latter to the power of the poor.
Thus,
not the ideological "wants" of this or that political group,
not political reshuffles, not administrative measures, and not even forceful decisions,
but the OBJECTIVE laws of existence of a socio-economic organism (country) controlled the situation.

There is a "BUT" here:

Yes, economic calculations of that time could show that Russia could not withstand participation in the war for many years:
S€E — msosmiris .. -

BUT the decline of the French economy "lagged" behind the Russian one by only 1 year: S€e — s .. .

however, in 1918,

when in France the fall in GDP per capita turned out to be EVEN DEEPER than the "revolutionary" level in Russia in 1917,

there was no change of power in France.

Yes, both in the army, and in the Navy, and among the workers, there was unprecedented political and military

disobedience, but even if the international war (and the fall in GDP) had continued for years, class power in France WOULD

NOT HAVE CHANGED.

France is a clear example of the fact that GDP (and, even more so, more detailed indicators) cannot change power.

Military losses

See the population losses of the countries participating in the war, % see in "Damage from the entire population, %"
Russia suffered not just the smallest losses, but 2-4 times less than the main participants in the war (and more than 4 times
less than France), but there was no change of power in them (and it was not even visible).

Hunger.

How can a phenomenon like hunger influence the government if it kills 1/3 of the country's population?
This did not happen during the First World War.

During the period of political upheaval, there were not even cases of mass death.



Why did two changes of class power occur in the underdeveloped and populous Russia in one year (1917)?
Because it turned out to be DECISIVE population ratio "City" - "Village".

In Russia, rural residents -85% in France - 59, in Germany - 44.

That is, the “revolutionary” proportion lay between the Russian 85% and the French 59%.

Where exactly is not relevant to our topic.

How this proportion WORKS for social upheavals.

It was previously stated that the process of destruction of the "money" economy is becoming irreversible,
this is when a growing one is formedinsufficient supply of the City economy of the Village.

The larger the population of the Village, and the smaller the population of the City, the

The Village needs more of the City's production in PHYSICAL terms (not in monetary terms),

this means that "Gorodzhanin" should produce MORE products,

but the smaller the City, the more problematic it is to do this.

There is a certain ratio: % of the City's population to % of the "Village's" population, - below which

the City PHYSICALLY cannot produce in 1 year as much as the Village needs to spend in 1 year.

It is unknown the country (and such a thing is impossible) when the City has 5% of the population (including the Authority),
and it was able to provide 95% of the industrial expenses of the Village.

Thus, abolition of money In Russia, two phenomena were "made™:
Static:population proportion City - Village
+

Dynamic:big war, which "ate" the City's capacity, which was intended for the Village.

It was they who started the accelerating process of destruction of power ("revolutions") - first - of the aristocracy, then - of
the industrial bourgeoisie.

Exactly physical exchange of consumer values "City - Village" - the first basis of economic stability (and power) in industrially
developing countries. This is the power-forming basis of society.

After the change of economy from market to planned
The chain of events in Russia went as follows:

insufficient supply economy of the Village by the City
cutting off supplies to Villages (Cities = Power + Industry)

The City takes away food from the Village by force (weapons)
Taking away is not exchange; = termination of commodity relations
Result = NO NEED for instruments for commodity exchange, including MONEY.

!
The village has stopped producing food for the City

The city "retreated": it returned the exchange of goods - the mechanism of "buy - sell* and the instrument of this -
money

TOTAL:
The basic reason for the "abolition of money" (both in the Consumer and in the Productive sectors of the economy)
were

proportion PHYSICAL economy of the country: City - Village

+

war = "accelerator" of failure to provide the City for the Village
= PHYSICAL reduction of the Means of Production in the City working for the Village.

(and not problems with loans, prices or political conjuncture),

To restore the shortage of industrial capacity of the City to the volume of productive needs of the Village
It was no longer possible to do so using commodity methods alone, either physically or theoretically.

The NATURAL phenomenon of "market/commodity economy" has inevitably "swung" towards a new
PHENOMENON of economy - "planned/distributive".
The short lifespan (75 years) of such an economy is dictated by the same Probability Theory,
namely, "transient processes" (They are studied in any technical institute and they are universal for any natural
phenomenon.)
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It is IMPORTANT to note that
already then - 1921 - the ruling "Marxists" thereby QUALITATIVELY turned away from their ideology - the construction of
"communism” (although, quantitatively: not to allow large private savings to form - they continued to move) and that is why
the country began to develop "half-way",
and that is why instead of "USSR" today the world has "RF".

After all, the founder of the theory of communism, Marx, proved with formulas that communism:
1) can only arise in an industrially developed country,
2) and it can “sustain” only if it arises in all leading industrially developed countries.

That is, for the rulers of Russia at that time (including the founder of the NEP - V.I. Lenin) the main task was -
TO HOLD ON TO POWER = FEAR of losing opportunities for self-realization and life itself.
This is natural for ANY government at ANY time, and it EMPHASISES that

the truly effective ideas are those that rely on
phenomena of NATURE: on "physics" and "psychology"”,
and not on human "games": on "power" or "money".

Secondary cause = administrative and economic
printing of money not backed by commodity mass.
: the "simplest" way to quickly stop the growing economic problems

Facts: The issue of Prikamskaya Zhizn from February 8, 1917 reports on how conscripts influence inflation.
According to the newspaper, having a good salary, they come to the markets and buy up products, not really bargaining.
And thus, quite understandably, they increase their price.

Tertiary cause = psychological and economic
the Village's reluctance to sell at reduced (="hard", "fixed" ) prices.
Facts: By February 1917, the task of supplying the urban population with bread was only 30% completed.
In Petrograd, which was already living on reserves, 714 thousand poods of flour remained. They brought in 5 thousand
poods per day, with the norm being 60 thousand poods.
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Wants of government leaders

The bearers of new ideological ideas, Marxists, came to power.
They had their own theoretical “wants”, including replacing commaodity relations with centralized distribution relations.
They justified the abolition of money with these words:
Fact: the speech of the man whose leader of the revolution was V.. Lenin ¥ named:
".. the most valuable and greatest theoretician of the party"

Xi "Othe experience of economic movement has shown us,
how wrong were ours old performance sabout the achievements of socialism after the conquest of state power by
the proletariat.
Roughly speaking, we used to imagine things like this:
we are conquering power,
we take almost everything into our own hands,
let's start right away planned farm,
some trifles there, which are sticking out, we partly take on the tsugunder, partly we overcome,
and that's where it ends."

It turned out that it is precisely physical “trifles” that are stronger than ideological “ideas”.
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For a brief proof of this, see Here.

Some data from the warring countries* for 1913-1914.

Entente Country in$x Population, GDP of  Total damage * Damage % of
GDP per million the without from the population
capita country, prisoners and entire in
/ bilion$  missing*™i = population, agriculture
Russia's million % * 1914 X
GDP per
capita ®V

Belgium 165--264 4263 8 34 0.9 1

Britannia 188--312 5030 43 216 3 7

Greece 56--95 1455 45 7 0 0

Portugal 57--88 1257 6 8 0 0

Russia 100--100 1613 165 266 5.5 3 85.0

Romania 31--106 1705 - - 0.4

Serbia 66--84 1060 3 3 0,1 3

Italy 94--169 2721 36 98 1.6 4

France 171--203 3245 42 136 5.7 14 58.8

Total: - - 671 - -

Quadruple GDP per in $ Population, GDP of Total damage * Damage % of

Alliance capita million the without from the population
/ country,  prisoners and entire in
Russia's billion$  missing >+l population,  agriculture
GDP per million % * 1914 v
capita *

Ottoman Empire  63--87 1407 28 39 0.7 3

Hungary 52--102 1200xxv 52(+7) 62 4.9 8

Germany 165--259 4181 67 280 6 9 43.9

. 2576 included in -

Austria 118--160 (+Hungary) 7 18 Hungary

Bulgaria 77--90 1450 - - 0 -

Total: - - 350 - -

Based on GDP, Russia could fight painlessly for only ONE year.
After that, due to weak GDP per capita, Russia would be forced
1) to continue the war, take loans from more economically powerful countries (England, France, USA);
2) compensate for the lack of military power by increasing the size of the army.
Such a process, once started, became continuous, and a chain of phenomena began to work:
debt load + army increase
decline in industrial production + rise in prices
insufficient supply of the City economy of the Village
cutting off supplies from Villages to (Cities = Power + Industry)
the cessation of the country's economy

end of centralized power

division of a country by other countries.
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The facts show:
After only 2.5 years, Russia was ON THE VERGE of being unable to stop the collapse (political consequence -
replacement of the monarchy with the bourgeoisie)
And after another 1.5 years, Russia collapsed to its theoretical limit (political consequence - replacement of the power of
the bourgeoisie with the power of the poor)
If the Poor had not stopped the war, then in another year the country would have lost its centralized power and would have
been divided up by other countries.
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As indicators of the "locomotive" of economic development - industry

i Industrial production index (1960 = 100), logarithmic scale: Russian Empire / USSR / Russia, 1861-2012

=100

1989-1998 — 56%

1915-1920 — 84%
(111 JER — o—— M ——

Decimal logarithm of the base index, 1960
(=)

Source: Smirnov S.V. Dynamics of industrial production and economic cycle in the USSR and Russia, 1861-2012
(preprint)

According to the Theory of Probability, if a Phenomenon loses 5/6, then it is doomed to cease to exist.
This scientific fact is the best evidence of the ULTIMATE decline of industry (it was theoretically IMPOSSIBLE to fall any
lower).

Confirming examples from everyday life:
The military, politicians and businessmen know that if
1/6 of the army remains,
1/6 of the electoral votes remained,
1/6 of the capital remains,
then this = "the end".

Reference:
to feel the extent of the tragedy,
it's enough to think about that
the decline of Russian industry during the First World War and the Civil War
was larger than during World War 11
in5! once.
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GDP decline

Dynamics of GDP per capita of the largest world powers participating in the First World War (in %, 1913 = 100)
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